


OPTION-A

(PUtnt Anatomy and End>ryology)

Paper : BOT-HG-4016/BOT-RC-4016

1. Answer very briefly : 1^7=7

*5# %T 8

(a} Which meristematic tissiJfefs ar&"
associated with lateral growth of plant ?

(b) Given an exaihple of living mechanical
tissue.

^rtl^ %Jti

(c) What is poUinium ?

(d) . Define seed. Mention its type,

flm I ̂  WI

(e) Name tlie nutrient tisstie developed
after double fertilization.
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(f) What do you mean by tetrasporic

embryo sac ?

(g) From where the lateral roots originate

in dicotyledons ?

2. Write briefly : 2x4=8

s

(a) Hydathodes

(b) Structure of pollen grains

(c) Cleavage polyembryony

i^cf

(d) Mesophyll of leaf
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